E3 HSSC CET Mains ALM Question Paper 31 Dec 2023
G

1. In pyvthon — I8 raised when
an operator is supplied with a value of
imncorrect data type,

(A) TypeError (B] NameError
(C) ValueError (D) SyntaxError

(E] Not attempted

2. Gram, Centimeter and Second are
measuring units in
(A] MKS
(B) FPS
(C) CGS
(D) None of these
(E) Not attempted

ckilo

3. The ampere-hour efficiency of a lead
acid cell 1s normally between
(A) 20-25%
(B) 40-50%
(C) 60-65%
(D) 90-95%
(E) Not attempted

4. Magnetization current in a
transformer produces in
transformer core.

(A) Eddy current
(B) Flux

(C] Power

(D) None of these
(E) Not attempted

X
5. 9 Dry ether
*2Na——— + 2NaX

This reaction is reaction
(A) Wunz-Fittig (B) Fittig
(C

) Wurtz (D) Kolbe’s
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9.

10.

law, the
..h'l-anlmg_ L £ e
aric flux passing throug _
it i to the rotal

ce 15 equs

Jirs 1 :\I.“fﬂ ol
closed 4 by the surface.

charge enclose
(A) Coulomb’s
(B) Gauss’

(C) Fleming's

(D) Kirchoff's

(E) Not attempted
According 10 Ohm's law, current
flowing in & circuit is inversely
proportional to

(A) Voltage

(C) Resistance

(E) Not attempted

(B) Power
(D) All of the above

Machine generating a.c. e.m.f. are
called as

(A) Alternators

(C) Modulators
(E) Not attempted

(B} Transformers
(D) None of these

Which of the following is not a
multi-user /multitasking operating
system ?

(A) UNIX

(B) Virtual Machines (VMS)
(C) Mainframe

(D) MS-DOS

(E] Not attempted

The type of earthing suitable for
sandy areas is

(A) Horizontal strip earthing
(B) Rod earthing

(C) Plate earthing

(D) Pipe earthing

(E) Not attempted
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11.

12.

13.

14.

15.

A

not a trathic

Which of the following is
sign 7

(A] Mandatory /regulatory signs
(B) Cautionary Signs

(C) Movement signs

(D} Information signs

(E) Not attempted

Which city is known as Queen of the
Arabian Sea ?
(A} Diu

(B) Kochi

(C) Mumbai

(D) None of the above
(E) Not attempted

A 6 pole induction motor is supplhied
by a 10 pole alternalor which is
driven at 600 rpm. If the motor is
running at 970 rpm, determine the
percentage shp.
(A) 1%

(C) 3%

(E) Not attempted

(B 2%
tﬂ'l 5"'"1]

Withamountofcurrent(l), resistance(R)
and time of current flow(T), formula
for converting clectrical energy to heat
energy(H| is

{A) H=IRT

(C) H=1R

(E) Not attempted

(B) H = I“RT
(D) H = V/R

The practical voltage source has emf
of E volts and internal resistance is
r ohms. If it supplies a load current of
Lamperes, the terminal voltage 1s
Iig ‘l'; (13) E/r
R D) E-Ir
empled

CG - AE23

retefEs 8 3 ®15-H1 JAEA e
TR R 7
(A) wfFEd ) A ==
(B) HTEMA F4 G 5
<) nfA-fafa = ==

11.

(D) H=A =2
(E) FATEA
12. f#m @ & | AT & T % ¥ A
T AR
(A) @
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de 5
(D) 3uda | B I3 A# SR
(E) AwiEA
13. UF 6 9 T=EE A Smgfd 10 9T
FeTae g &1 WA 2 A 600 rpm W
Tt 7l 8 | afg "ret 970 rpm T A
i 2, A1 sfaem feem FAyifE $T
(A} 1% (B 214,
44 3% (D) 5%
(E) swefEa

14. faea um 1 wEn (1), vfaae (®) 3 R
T TR o A (1) 3 e g e
T3 (H) 8 qitEfda F4 & g R

(A) H = IRT H = ’RT
(C) H = IR D) H=V/R
(E) 319Eiad
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16. Which of the following type of 6. f i H B FH-E SRR T
instruments are non-directionsa)

: a .3 __"1' '.‘_-3""
and can be used for measuring hoth m‘_&m].ﬁﬁ ?_ jm Iﬂi S ﬁm‘ﬂ
AC and DC values of current and Aleed * AC AN DC A 1141
b % oo fFm T THATR 7
(A) Moving iron type (Al wfaafied w18 TN
(B) Moving coil type B T AT Tﬁ &N
(C) Dynamometer Lype (C) ErEIE WA
(D) Induction type (D) S W
(E) Not attempted (E)
17. The members of rhodophyceae are 17. ﬂﬁmﬁﬁg F W9 FEAE: _——
commonly called Fgend & |
=i arE
(A) Red algae  (B) Green algae _AX) ?j':n:’fnf'a“_" :g: it
(C) Blue algae (D) Brown algae (C) il
(E) Not attempted (E) e
18, ZEEHR F B FH i Formen AT
18. The top and bottom horizontal . 2
portion of the transfwr core is E % o
(A) Yoke (B) Limb _ % ﬁ“?i
(C) Winding (D) Conservator (c) Frfem
(E) Not attempted (E)
g HE 1, AN
19. In delta connected system, the relation | 19. T aﬁﬁs ;?::: :ﬂ il 3
between the line current I, and phase W1,
current [ph is Ip ;‘}" (&) 1, = Iph (B) 1, = lphf J:;.
(A) Iy =1y (B) I, =Ln/V3
C) 1, =3I ) 1, =3I
(€ I, = \Elph (D) I, =3y, © ph AD) 1, ph
(E) Not attempted (E) swanfaa
20. The average value of sine wave is 20. T T F FEd 4R TE TH H
times the peak value. TR
Vg et (A) 1.414
(B Qu8e (B) 0.637
s AC) 0.5 ,
(D) 1.732 . (D) 1.732 :
(E) Not attem & W
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21.

22.

23.

24,

25.

&1 v ol
Capacitance 15 a ratit

(A] Voltage 1o voltage
(B) Volrage 10 chargt
() Charge to vl
(D) Charge to charse

(El Not attempted

The term “F‘.:-nqrsn-m" was hirst

coined by

(Al Sir Arthur G. Tansley
(B) Salim Ali

(C] James Hansen

(D) Rachel Carson

(E] Not attempted

15 used to measure the

width of wires.
(Al Trv square
(B) Mallet

(C) Wire gauge

{D] None of these
[E) Not attempted

The shunt resistance in an ammeter
Is usually

(A) less than meter resistance

(B] equal to meter resistance

(C) more than meter resistance

(D) of any value

(E) Not attempted

The reciprocal of impedance of a

circuit is called
[A] Resistance (B) Inductance
(C) Capacitance (D) Admittance

(E) Not attempteq
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24,

25.
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(A) T edt . 2TE

(B) HeATH A

(C) v FAHA
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(B) erRel F1 weftel (Hee)
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(D) 398 A FIS 48
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i # vz wfey ek 91 g 2
—4a) iz ufamy & 5y
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26.

27.

28.

29.

30.

'T'I-Ir. .,‘:1:..'.-1[-.15 fl1 l]-l{' ]“-[L'I e wire

planted in
(A] 1891 (B) 1991
(C) 1969 (D) 1990

(E] Not attempted

The resistance of a lamp is 10 ohms
and current through it is 2A. Irts
power is

(A] 10W (B) 20 W
(C) 30 W (D) 40 W @, &)
(E] Not attempted é%‘

A transformer operates al maximum
efficiency when

(A] Core losses is minimum

(B] Tron losses 1s munimum

(C) Copper losses is minimum

(D} Copper loss = Iron loss

(E) Not attempted

The percentage errors in the
measurement of mass and speed
are 2% and 3% respectively. How
much will be the maximum error in
the estimation of the kinetic energy
obtained by measuring mass and
speed ?

(A) 11%

(C) 5%

(E) Not attempted

(B) 8%
(D) 1%

When twa similarly charged particles
are brought near, they try to repel each
other while dissimilar charges attract
ecach other. This ahility of a charged
particle to do the work is called

(A) Coulomb

(B) Electrical power

(C) Electric potential

(D) Electrical resistance

(E) Not attempted

26. .. < %h m - L i HM T i |
(A) 1891 (B) 1991
Ae) 1969 (D) 1990
(E) e
a7, UF @ 1 gAY 10 St 7 3 T
mv # YT 2A P | 3u1 wfad 2
(A) 10W (B] 20 W
(C) 30 W ) 40 W
(E) 3
28, UF FEEHE R ST q1 79 F1E
A R T ‘
(A) 1 1 A FATH Al 2

{E}?iﬁﬁﬁrﬁlq:r?rﬂ?fﬁl%
(C) A 61 wfy AR w2

_ﬁ}ﬁﬁﬁmﬁ=ﬁ%3ﬁlﬂﬁ
(E) aTHd

29. gaﬂnyhnﬁﬁ:mﬁuﬁmgﬁ;m:
2% 3T 3% |aa:rm=laﬁtrrhfmnm
% ZR0 TR T S 6 AE § A

Ffe Feaedt il 7
[A} 11% [B] 8%
_AC) 5% (D) 1%
(E) 3Tt I
[=):%<

3 3 99F ANE F H e A
T R, 3 - F i w
SATH T, FElH I A= Uh-ga
F1 HG w1 B | fopet SR s i
(A) el -L

_AB) faefta wfFm

[C}fﬂ_ﬁmi

(D) farrta wfemiy

(E) e
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"58” is a system used in
(A} Production practices
(B) Safety practices

- s |5
1€) Hﬂlm{‘-k{'eping prmtlll
- ]g
(D) Electrical manufic furf

Under thi o Britishers

came under the cont

(A) Muhammﬂd Shah %
EE

(B) Shah Alam

(C) Ahmed Shah

(D) Bahadur Shah Jaffer

(E} Not attempted

Which type of wire joint is found in
the junction box ?

(A) Rattail joint

(B) Plain tap joint

(C) Aerial tap joint

(D} None of these

(E) Not attempted

The average power delivered tq an
impedance (4 - 13)Q by a curr
508 [100m + 100) A is E
(A} 44,2 W

(B) 50w

C) 625w

(D) 125 W

IE! Nﬂl_ &“"-'l'npged

31, 55" gurreft o ol 5
AT # | —_ 8 Ty
(A) 3773 won i g

—AB) HE gy g
(C) TE-=parey £ T
(D) Fea fafauio

(E) 319arfigq

(B) = 29 wige
(C) tfae 3q wifze
(D) 8 & =1§ 78
(E) 3rvafa

(4 - j3) Q=i & ¢ 3item wfg R

M) 442W

’ (B) 50 W
(C) 62.5W
(D) 125 W

(E) IrsRmfad

34. T 5 cos (100xt + 100) A R whyaT
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35.

37.

38.

39.

In DC generalors, the effect of the
magnetic ficld set up by the armature
current on the dist ribution ol the Hux
under main poles is known as

(A) Armature resistance

(B) Armature cllect

(C) Armature reaciion

(D) None of these

(E) Not attempted

The end from which elements are
added or deleted 1s called

of the stack.

(A) Top

(C) Front

(E) Not attempted

(B) Bottom
(D) Rear

Unknown frequency can be measured
using

(A) Anderson’s bridge

iB) Maxwell's bridge

(C) De Sauty's bridge

(D) Wien's bridge

(E) Not attempted

Sign of children near road shows
possibility of _nearby.

(A) School u'@
(B) Park %ﬁ}é‘]
(C) Home

(D) Hospital
(E) Not attempted

Maoradabad is famous for
(A) Brass industry

(B) Sandal ml

(C) Newsprint factory
(D) Penicilhin factory

(E) Not attempted
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41.

42.

A

In domestic wiring, a switch 1S always

placed in the
|A] Earth wire
(B] Neutral wire

(C) Live wire _
"--?*;."r't‘

(D] None of these ot

(E] Not attempted

6 ohm and 4 ochm resistors are
connected in parallel through 240V
supply. Total current flowing through

the circuit 1s

(Al 10A

(B) 100 A

iC) 24 A

(D) None of these
(E) Not attempted

Gurugram-Manesar-Bawal region of
Haryana is famous for the production of
(A) Pharmaceuticals
(B) Sugar

(C) Cotton

(D) Automobiles

(E) Not attempted

The equipment connecteq between th
conductor and Eround, tq -

diSEha_rge

the excessive voltages tp b
]

(A} Current transformer

(8] Relay

(D) Ligh”“ﬂ. ArTeyte;
[Ej Not E"l‘.‘mp't.d

. Wﬁﬁﬁaaaﬂmmﬂﬁ‘fm
i B 7

(a) 3 TH

—B Ao

() fagea

(E) Fraen

6 3t 3t 4 3w WIS 240 V AT
3 T & gEEER 4 98 §e § | IReY &
e @ wafER B areh $a fagd uw R
_IA) 10A

(B) 100 A

(C) 24 A

(D) 99 & ®I3 T&

E) 3Twaifaq

41.
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44,

45.

47.

In a factory, the following appliances
are in operation : 2 HP motor 3 hours
daily, 100 W lamp 12 hours daily and
1000 W heater 3 hours daily. Total
amount of energy consumed in a
month of 30 days is

(A) 134.28 kWh

(B) 36 kWh %&%

(D) 260.28 kWh
(E) Not attempted

The first battle of Tarain was fought in
(A) 1192 (B) 1191

(C) 1121 (D) 1091

(E) Not attempted

In measuring instruments, under
equilibrium condition, controlling
torque (T ) and deflecting torque (Ty)
are

(A) T =T,

(C) T, <T,

(E) Not attempted

(B) T.> Ty
(D) None of these

What is the frequency of an ac
current i = 42.42 sin 628t ?

(A) 50 Hz
(C) 200 Hz

(B) 100 Hz

(D) 628 Hz

[E] Not attempted

In python, each dictionary item is a
key value pair, separated through

(A) ; (B) "

C) + (D) :

(E) Not attempted

14,

45.

47 L

CG - AE23

v a8, FEfEtEs s e

£ . o ypam wfafer 3 =2, 100 w

gfafea 12 92 31 1000 w #z wfafe

392 | 30 feA1 &% v udA | @ue o
ot 1 Fa o fFA R 7

(A) 134.28 kWh

(B) 36 kWh a9 VoA
(C) 90 kWh E -
(D) 260.28 kWh Yo
(E) waTiém B
AUET F1 YW g He Tg1 T = 7

(A) 1192 A4B) 1191

(C) 1121 (D) 1091

(E) vaTed

o g IuET 3 dger i Rl

¥ wea frdfa wemepl (1) 3 faafa
FEU (T,) B #

AT T, BT T,
©) T.<T, (D) T8 & *§ TE
(E) v

ac 9T i = 42.42 sin 628t 1 AGMW
TR 7

{A) 50 Hz (B) 100 Hz
(C) 200 Hz (D) 628 Hz
(E) rwamem

T H, T YR SR
TEE e e R, Rl

e o wmar @

(A) ; (B) "

(C) + D) :

(E) 3rvafyg 2
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49.

50.

S1.

The EMF induced in a conductor 1s
measured by

(A] Ohm |B) Wartt

{C] Volt (D) Ampere

[E] Not attempted

~_is switching device capable
of making, carrving and breaking
electric current under normal and
overload conditions.

(A) Fuse

(B) HRC fuse

(C) Lighting arrestor
(D) Contactor

(E) Not attempted

Which alphabet will come in the place
of question mark ?

D,K, 5 B,L7?
(A) X

(C) Z

(E} Not attempted

(B) Y

D)W EgE

Which of the following materials is a
good semiconductor ?

(B) Mica
(D) Germanium

(A) Copper
(C) Porcelain
(E) Not attempted

The polarity of voltage drop across a
resistor is determined by

(A) The value of resistor

(B) The value of current

(C) Direction of current in resistor
(D) The polarity of source

(E) Not attempted

(2]

gy

49 i . Fg s
: h:ﬁ A 1 ufrg 2 og e Py o ﬁ
54
: L%l m” |H| E1F
o TE ares (D) T
(E) swafa
S0.  fegfan feamy amr= an
Wi feufa = Az faem um =
T4, @ A4 30 ATES @ AEH 2 |
TA) HA
(B) "=, AR H, A
(C) W "= -
(D) HTFFAI PE 'it“:_,
E) o s
o & et
51. quaasr?rﬁm#-my@m ?
AR
D l]{ E L;? .;ﬂ__
(A) X (B)
(C) Z ST W
(E)
s2. fFpafafas O 7 F9-9 7204 T A=H]
FTEE B
(A) ATE (B) ¥
() F-fd ) FAHAR
(E) *
53. Tl gfamas @ arees 3/ &1 gETTT

fora zm fauffm 1 adi 2 7
(A) FTAITF = T
(B) faua am =1 o=

_se) utria 1 faea um 6 fawn

(D) ®A i "
(E) HwaTiHa
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54.

55.

56.

S57.

cites ol Kunal and

rhe ancient
chisirict of

Banawal m Fatehabad
Harvana Are located on the banks of

rivet

(A] Yamuna

(C) Ghaggar

(2] Not attempted

(131 Markanda
(1) Saraswalg

Hysteresis loss 1s a lvpe of

Al Copper loss i
(B) Iron loss

(C) Mechanical loss

(D) Fricuon loss

(El Not attempted

For a ‘P" pole lap wound armature of
DC machine, the number of parallel
paths are equal to

A) 2 (B) 2P

c) P (D) P/2

(E) Not attempted

A _is used to make or break an
electrical circuit.

(A) Switch (B) Fuse

(C] Potentiometer (D) Wattmeter

(E) Not attempted

The Champaran Satyagraha was

organised against the British

(A) For increasing the salary of the
Mill workers

(B) Against the refusal of remission
of revenue

(C) For forcing farmers to grow Indigo

(D) To protest agains Jallianwalabagh

Massacre

(E] Not attempted

54, AN & FdRMER: iy, < Akoy
ATl & AT 1, Ty, =
faamt froA 2 5
(A) HHA (B urde,

~1C) PLLL 1] Hlegd
(E) Auarfad

§55. fecfidm 214 U TN 2
(A) AT @ #TA
) =1e 1 7
(C) it 71
(D) = &1
(E)

DC A & P T 19 130 I F
AR 7
(A) 2
~AC) P
(E) 3varfaa

56.

(B) 2P
(D) P/2

57 faa wftaer #1 791 71 Are7 % ferw
1 ITET foRan smar 2 o
(A) fag
: ~B)
BEE () favammd {D]Tﬁ:ﬁa
BYEE) st
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59,

60.

61.

62.

h depends on.

<14

59,

A lvpe of pt'r_}l‘ﬂ'lfnn- v;'hlL LG s =
- - s SRR o
only the magnitude of current. withouy HIAR fom T-EE:?THT S Fm
taking any cognizance of 113 phase it gy lwﬂfm ¥ Thmm o,
angle, is known as B R L
(A) Over current protection ) l#‘i] Jﬁl sty f’-‘_"'l__"T 1 Bram
iB) Directional over current protection (B) fesirg - i f’-TT-t
(C) Non-directional over current T 1A M gy
protection (C) ety srmafis, fam 71 Hrapy
(D) Directional under current D] fesfra 3 . - o
protection (D] 9 e
(E) Not attempted (E) 3twriea
In a diode, flow of current is 60. 3EIE 4 U T YSTE B 2
(A) Unidirectional (A) Ui
(B] Bidirectional (B) fafesfia
(C) Reverse TC) e
(D) None of these (D) 3799 & = T
(E) Not attempted (E) Av=ifaa
Diversity factor is the ratio of the sum 61. fafaus = ot wva m =fEFE
of individual maximum demands to the Afeeram grmi & 77 3 Eal
on the power station. I 2
(A) Maximum demand ~{A) wfieras am
(B} Total demand (B) & am
(C) Minimum demand EE (C) =A™ =
(D) Individual demand E% (D) wfFama am
(E) Not attempted (E) HAwiaE
In Haryana, Surajkund crafts fair is | 62. &R@wn # giage wafiey gen wfa =4
held every year in the month of o & e R
(A) January (A) S
(B) February (B) BTl
(C) March
“e) "
D) April
(D) Apri (D) 37
(E) Not attempted (E) m‘lﬁ_‘lﬂ
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65.

FJEun,'-{!- |;-| the unij
t

(B) Joule

(D) Lux/m

Lolductance is me
(A) Siemens

(C) Lux

(E) Not attempted

Which of the following is not a class
of permanent magnet materia]
for electric machines ?

(A) Alnicos

(B) Ceramics

(C) Silicon

(D) Samarium cobalt

(E) Not attempted

used

In 4 point starter, the No VoIt Release
(NVR) coil is connected in the

(A) Field circuit

(B) Armature circuit

(C) Across the supply line through g
protective resistance

(D) Both (A) and (B)

(E) Not attempted

Which number will come in the place
of question mark ?

(7] 5\
QB

(A) 38
(C) 40

D) 44
[E) Not E.T.tﬂmptgd[ ]

Cq
63, ATcihdl F Ak
i T 4
(A) Hiaa I.E.]&-;l.q““- "
[(:] A9 +..‘r:ﬂl. LT B
[E] -‘“"Ir;h

64, frmferfed & & B fagy
. B E 1
foru s T I A 5 rm,;{

3,
1 Y

65. 4 w@nse ®iE H A awe T (NvR
Figel foFed Jg1 & 8 7
(A) $ies dfhe
(B) 3= Hihe x
E§ 5 (C) W guETeE AUy % Wmean §
D) (a) 3R (B) T
(E) 5T

66. W fuE F WH W SE-W s I 7
: _ 3 \

e

‘%‘f{q

iy

(A) 38 (B) 39
A€ 40 (D) 44
(E) rvariyq
67. ﬁﬁmﬁéq;}____%mﬂ.,ﬂm
ST R
(A) W ey
(B) ¥a =i
(E) rwrnfyg
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68.

69.

70.

v 4 A

to insert &

is used
cear end

element to the gueue at the

(A) DEQUEUE  (B) ulrE;Ult

, SUE
(C) DELETE (D) ENQUEUE

() Not attempted

Radiation is a hazard.
(A) Physical
(B) Chemical e

ey

(C) Biological

(D) Mechanical
(E) Not attempted
Python allows us to join two Strings

using concatenation operator plus
which is denoted by symbol

(B) *
(D) %

(A) +
(C) $
(E) Not attempted

Tree system of wiring is most suitable
for

IA) Godown wiring

(B) Industrial wiring

(C) Domestic wiring

(D) Multi-storied building

(E}) Not attempted

72. For all practical purposes, sotential

A

of earth is taken
(A) Infinity
(C) One

as

(B) Zero
D) None of these

new |

68. B F Wl W #Y 8§ UF qm sy

'1‘-] T

(A) DEQUEUE  (B) Qugy,

(C) DELETE

(E) #HA9arEa

”ll'l t WERTEL
NOQURL

(A) sifeer
~|B) THEEH
() Afe=
(D) A

(E) 39aifEd

70. TEUA BH FIEhCATA HWE TH w5
w0 7 figm 1§ wmigs &9 3
IECRRIED A S T

' (B)

(D) %

69. THan 2

71. anafor i d yoneh foraes fom e
Y R 7
(A) Tiigm = "o
(B) 3raifirs amafo
(C) e At
D) wEAfSET Yaa
(B) Frwafé

72. Wi SERlE 3w & fou el F
R # g w9 § fom @ 2

(A) A _4B) T
(C) T (D) s A 7T
(E) 3rsnfaa
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Cq
73. In the following question two 73, Frrferfran s i 5
statements and two conclusions B 1 3 4 ACTR . o .,
given. Read the conclusions and b FETT;'.HIT o F -1 TJI':; Bl "
;i:'l.'ili!' "-'-'Illl'l" of the Tven 1‘1!T]:‘]llhj:‘][]5¢ '..,Ir; H :;I‘H 5 | e =
logmcally follows e [- |
g= . . <N m: B =<0 I = N_
Statement : < {: = -:‘-a _—-E. T
o F_?" N ﬁﬂﬁ: . E>N
Conclusion : | E
II B » T II.- H > T
RS —dA) FEFA | FTHT Fo 2
Al Only 1 follows AL B) e | - s &<
- - lows = ' (B) “i' e .
(B) ﬂnl,*h” *"I”" 1 followe (C) A 1A A 1 s aﬁﬂ%?
C) Neither I nor L
|Im Both 1 and I follow 1,1? | 3 11 2 e
(E) Not attempted (]
74. A transmission line is said to be an 74. U FEMYE A F A A Elal
ideal line if 2 afe
Al R=0,G=0 (A) R=0,G=0
(B) RG=L/C (B) RG=1L/C )
(C] With a large value of R and G (C) R3IN G 92 9F & Oy
= -
D) RG =C/L Bl RG = JC/L
(E) Not attempted (E) srsafie
5. An energymeter is 75. Fanfter . g
instrument. AA) =it
[A) Recording (B) sfefi
[B] Indicating :
(C) Integrating (C) Q‘fé‘aﬁl'[
(D} None of these (D) 399 @ HI3 78
(E| Not attempteq (E) 3rvarfag
76, Ir;ﬂp};nhu? tcontm——Iisusedto | 76. umpEm &1 37, fau m
Create . i 2
0 ;mt;frf},ff’rﬂtﬁ:““?g A sequence I F 3w F gy o I ¥ wiy
UPta ston . ‘_f@%ﬂsmnvﬂuc - e
value, WPT;':ILH lecludmg St (=g a;;l | -@ﬁm} % T]m
i .' 1 o <
Men o difference of the given HHA Tt EE& TH & Fw‘ﬂl, o sman 2
(A) for
h (C) while (B) range() (A) for _AB) rang:e[]
(E) Noy atte (D) Continy, (C) while (D) continue
ted
(E) Isnfea
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78.

79.

s a discharge of

The B . .
th a combination of

electncity Ihruug

onduc
ionized air and vapot ized conductor

material.

(A] Fuse

(B) Power arc

(C) MCHB

(D) None of these
(E) Not attempted

Which of the following circuit
breakers doesn't use air or gas as one
of their medium ?

(A) Miniature circuit breaker
(B) Bulk oil circuit breaker
(C) Air blast circuit breaker
(D) SF circuit breaker

B
(E) Not attempted =
The Udanakootam is the

intimate group of the King in the
administration of

(A) Pandyas

(B) Cholas

(C) Kadambas
(D) Vardhanas
(E) Not attempted

is an electrical breakdown

of a gas that produces a prolonged
electrical discharge,

(A) Electric spark
(B) Air blast

(C) Air brake

(D) Electric arc
[E) Not attempteq

CG__‘Q.
77. _ FEMATE W amn, E
mﬁmmﬁam%mq%

e 2 |
(A) TS
~B) TR ATF
lcjﬂﬂﬁ&ﬂ
(D) 5 & HIE T
(E) FwaTEd
78, frefefes § @ ®H-A1 7 35

(D) SF,@fhe st
(E) A9IIHd

79. ISA%ed THES AT § T F F
HE B AT 7

(A) TS

<B) ¥

(C) e

(D) 9€R

(E) 3ty

80 ﬁnmﬁgaﬁ@gqaﬂﬁ
mﬂ'ﬂiﬁ'ﬂﬁﬁﬁ—ﬁqmmil
g () TasTeht i ey
B T R

(C) TR ek

Tiaﬁrﬁaa:m

E) stuaifgq

EliF
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|_':
; rees iy 4 TROtOrINE
/ ) yee 1in a m
ﬁ ction of It
HaTe Lirrll

[y . by
gl ' .;Lirwrmlﬂt‘d :

U LRE
actit

) and rule
. s right han
.|1."|'1'I|!'I.E"Il‘I :
Al

% left hand rule
Bl Fleming s l¢

||L1|I EnL-i T“IL‘
~i Right hand thun
Not attempted

1b rule
E
+he shape of warning traffic sign 18
y| Circular

g| Square

¢| Rectangular

D) Triangular
E| Not attempted

a. The simplified form of

-1 % -1|X=¥].
|z ual to
1an [}J] tan (K+}"] 15 €g

| o
A O (B) 2

C) é (D) ©
E| Not attempted

4. The device that converts optical
energy into electrical energy is

'A] LED (B) Photo detector
IC) Solar cell (D) PIN diode

E) Not attempted

—— 15 a joint formed by joining two

Preces of metal edge to edge.

A1 Lap joint

B Bunt joint

() Tee joing "

E) o
ot attempred

Cac
- h T ARy
81. miefm R & &= 4y oy o
forffr Frt 2 7 ham
(A) T 1 2ife apy oy
~B) FAT F AW 71 %) fgap
() #4 fam
(D) E:Tﬁ».':! AT F 34‘]?, =+ faag
(E) HwaTad

82, <At i o F smEw w0 a s

y By
w7 2
A 0 ®) 7
(©) ’2—“ (D) n
(E) Irwamiéa

84. T8 ITH A AfeFH Fot i ey FA
1 gftafda wr &
(A) TesEl
_€) 9 &
(E) 9T

(B) ®I2l fegaet
(D) fo= =@

85. W % 2 IHS H fFM & R aw
STgH 741 W3 2
M) o9 g
(B) 52 Sirg
€) & Az
(D) H Frg
(E) 3rwanfys
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86.

87.

88.

89.

U-'ll'tl-’. is he 1{5:.:-_']

rt_‘-ﬁlﬁh’lﬂ

Which of the follo
arthing

u used lor
value of €

large power gtation
(B) ¢

(D) 10 ohm

g7
1.5 ahitl

(A) 1 ohm
(C) 5 ohm

(E) Not gttem pted

acteristics of big data,

e represents the rate at
which the data under consideration
are being general and stored.-

B) Velocity

(D) Veracity

Among five char

Fuse is always ~onnected i ———

to the circuit.

(A) Parallel

B) Neutral

(C) Series

(D) No such spgci_ﬁmﬁﬂn
(E) Not attempted

The sides of an equilateral triangle are
increasing at the rate of 4 cm/sec. The
rate at which its area is increasing
when the side is 14 cm '

(A) IDJE cm’!sec

86. @< faga HIHE fere Ioem s
1 srfeln wfaie &1 ey :l"—»_;
0 n "‘HT;T'”| 3 5 WBE~ r.
(A) 1 3™ (B) 0.5 3im
(C) 5 HIH [2) 10 #H1m
(E) e
87. ﬁﬂ?’:ﬂeﬁaﬁhﬁr’mmnq
34 ET'?W Eﬂﬁm 2 fam w fmmds =
‘qﬁﬂ.ﬂﬂ AL G L
(A) FTEH WB) darad
() Al (D) aufedt
(E}
88. ﬂﬁﬂﬁm?ﬁﬂﬁ__ ¥ 13
g2 | |
(A) HHEH
b (B) e
o
& (o e g feafea T 2
(B) ISt
89. wm%ﬁw‘ﬂﬁ;ﬂ.ﬁz

3 ag @ | 3G TR 0 14 7 2, 7
SEd % ded 1w

(A) 1043 &fi2/4.

(B) 1443 a2/

(C) 283 cm? i
(D) 14 mz':jl u‘:‘m & e 283 Ff/A.
In 3 phase sys () e
with mmamlmahwe 20 3 <y syonfert A 4 deed | #H
a Phﬂ-'ﬁe d-iﬁ'ﬂ ﬁmﬂ'ﬂcy but * ¥
gnat, S o _——
30 ;
(C) 90 (B) 60 T’Tmzﬁﬁ! >
(E) Not at;emmm] 120 (A) 2 1{;' =)
(E) Fwanfed
.20-
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e is measured by

N e (@) Ohmmeter
petel
|.|1|'ll
1 ﬂ]!'ﬂl‘-

|1-defined
. have no well-defl 4
willk : e |
B + n'lﬂlntamh intern
i arate data

" parkings 10 sep
-HL |I;5.s. are called
.:I srmcmred data
U ;1sm1f:tured data
5 anui-stmclurcd data

- Organized data

yot attempted

(52!

g3 Which safety device should be used

+hile driving a two-wheeler ?
Al Helmet

B/ Seatbelt E]}'g_g
ICy Airbag %‘ﬁi

D) None of the above
'E| Not attempted

This instrument of Haryana is in the
snape of cup containing 2 cymbals
and made up of brass

lA] Manjira B} Taasha

€} Dholak (D) 8 angi
ar
IEj Not atternpted }

95, The « UTTent

T AN upen cireuit is
(A} normal)

¥ very high becayse the
LA i
Ilance of AN open circuit is

CG - AE23

91, gfaﬁ'q &1 U alll Y S o

(A) afee A1)
(C) AleeHidd (D) FTafie
(E) ATATTHA

92 =g 2 f3ad wE W=l A B i
o A8 & dfeA 221 dcl B wen #
3 feru wiahes 2 o &l & =
3 fi Al ATl 2 |
(A) EFad =T

[B]areiﬁﬁm_

(B) Hzewe
(C) EET
(D) IR & A HS T



Guest
Rectangle


96.

97.

98.

Im'

is defined as the
— given out in

it solid

—

amount of luminous flux

’ in
4 space represented by ont U |
having an intensity

rections.

angle by a source
of one candle power in all di
(A) Lumen

(Bl Luminous intensity

(C) Light

(D] Candela

(E) Not attempted

In a dynamometer wattmeter, the
fixed coil 1s

(A} Current coil

(B) Potential coil

(C) Voltage coil

(D] Resistance coil

(E] Not attempted

The layout of this wiring is done under
the plaster of the wall of the building
(A) Conduit wiring
(B) Cleat wiring

(C) Casing-capping
(D) Concealed wiring
(E) Not attempted

e

The probability of happening of an
event A is 0.5 and that of B is 0.3.
If A and B are mutually exclusive
events, then the probability of
happening neither A nor B is

(A) 0.4 (B) 0.5

(C) 0.2 (D) 0.9

(E) Not attempted

1 yard is equivalent of feet.
(A) 1 (B) 2
C) 3 (D) 4

(E) Not attempted

. B L b L Ll B A -
¥zt wifen &1 AaA @@ A g oo
gé 318 & W v s A fen m
wgfos wead A & &9 4 i
fara siman 2
(A) ~gH
) ~qfim efafe
(C) @52
(D) F==en
(E) wnfaa

97. SRR aicHi # fr Fuech &t 2
(A) faga Fe=
(B) &wIfad Haet
<C) dIeed Fed
(D) Sfey FEe
(E) raafea

98. 3§ amaftr %1 A3k fafeen i fan &
et ¥ A= foran e 2
(A) e aafe
(B) Fefte arafon
(C) whfam -
4D) THies Imafo
(E) Fsafa

99. TF WA A S 8 o wiwar 0.5 2
s BH 032 ) 3f A 3 BIER

AT, ATTATEBER H
yifenan R
(A) 0.4 (B) 0.5

—{C) 0.2 (D) 0.9
(E)

100. 179 R F e R |

(A) 1 (B) 2

) 3 (D) 4
(E) Frwafed
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